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1) Find perimeter of 2 2/14 of 55 3) 66.3- 80.5
b rectangle having
sidesa=96in
a andb=12in
Answer: Answer: Answer:

4) 279-353 5) 279-353 6) A number ischosen at random from 1
to 25. Find the probability of selecting
even number.

Answer: Answer: Answer:
7) 54 x 49 8) 1200 = 100 9) Find the mean of the following set of data:
15, 20, 12
Answer: Answer: Answer:
10) 16% of 21 11) Find the mean of the following set of data: 12) Find peri meter of
0, 15, 18 square having each
s side (s) equals 42 m
s
Answer: Answer: Answer:
13) 14) Find perimeter of 15) 130+ 10
Find the next three numbersin triangle
the sequence b ¢ a=11m,b=21m,
0112358 , , c=85m
a
Answer: Answer: Answer:
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16) Anamount was increased by 9% to 17) Round 8.04096823 to 5 decimal 18) 'What isthe probability of rolling a
$39.00. Find the original amount. places. even prime number.when rolling a
dice
Answer: Answer: Answer:
19) 46.5- 38.8 20) 3744+ 78 21) Find area of square
having each side (s)
s equals 16 m
s
Answer: Answer: Answer:
22) 31.4-878 23) 24552+ 13.2 24) b /
a 0 c
Measure angle boa
Answer: Answer: Answer:
25) Convert the following improper 26) Find the percentage change from 5 to 27) 20% of 40
fraction 5%/ + 15/ to amixed 1
number
Answer: Answer: Answer:
29) 55+ 19 29) 30) 314+ 145
A=23 B
Find the Angle at side B.
Answer: Answer: Answer:
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31) Find perimeter of 32) 18.9+18.8

triangle s = 88 ft

33) b /

a 0 c
Measure angle boa

Answer: Answer: Answer:
34) (-36) + 98 35) Round 8.680108 to 1 decimal places. 36) Find perimeter of
triangle
b ¢ a=71ft,b=861t,
0 c = 96ft
E|
Answer: Answer: Answer:
37) 5 1/2 -2 4/5 38) Convert the following improper
fraction 41/¢ + 25/7 to amixed Find Volume of
number Cylinder
Answer: Answer: Answer:

40)  Increase 216 by %/gg

Answer:

Total: /40
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1) 216in
8) 12

15) 13
22) -56.4
29) 157
36) 253ft

2) 10

9) 15.67
16) $35.78
23) 18.6
30) 5%/
37) 2719

3)-14.2

10) 3.36
17) 8.04097
24) 122

31) 264ft
38) 637/47
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Answers:

4)-7.4

11) 11

18) Y/g

25) 72/3

32)37.7

39) 6597.3445725386

5)-7.4
12) 168m
19)7.7
26) 120%
33) 113
40) 226
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6) 12/p5

13) 13,21,34,
20) 4.8
27)8

34) 62

11-PLUS

7) 2646
14) 117m
21) 256m
28) 74
35)8.7
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